
Bi 204 Methods: X-Ray diffraction 
. Calibrating Non-covalent Molecular 

Interactions 
 

Stroud 
2017 

A	
  ‘Ligand’	
  the	
  cancer	
  drug	
  ima2nib	
  (Gleevec)	
  
bound	
  to	
  the	
  tyrosine	
  kinase	
  Abl.	
  

stroud@msg.ucsf.edu	
  

©Robert	
  M.	
  Stroud	
  2017	
   1	
  



Op2cal	
  image	
  forma2on,	
  -­‐	
  without	
  lenses	
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If	
  automated-­‐	
  why	
  are	
  there	
  errors?	
  
	
  	
  	
  	
  	
  	
  	
  	
  What	
  do	
  I	
  trust?	
  Examples	
  of	
  errors	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  trace	
  sequence	
  backwards,	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  mis	
  assignment	
  of	
  helices	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  etc	
  

The	
  UCSF	
  beamline	
  8.3.1	
  

UCSF	
  mission	
  bay	
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NH3 sites and the role of D160 at 1.35Å Resolution 
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Data/Parameter	
  ra2o	
  is	
  the	
  same	
  for	
  
all	
  molecular	
  sizes	
  at	
  	
  
the	
  same	
  resolu2on	
  dmin	
  
ie.	
  quality	
  is	
  the	
  same!	
  

30S	
   50S	
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Determining	
  Atomic	
  Structure	
  
•  X-­‐ray	
  crystallography	
  =	
  op2cs	
  λ ~	
  1.5Å	
  (no	
  lenses)	
  
•  Bond	
  lengths	
  ~1.4Å	
  
•  Electrons	
  scaeer	
  X-­‐rays;	
  X-­‐rays	
  ‘see	
  electrons’	
  
•  Resolu2on	
  –Best	
  is	
  λ/2	
  	
  Typical	
  is	
  1	
  to	
  3	
  Å	
  
•  Accuracy	
  of	
  atom	
  center	
  posi2ons	
  ±1/10	
  Resolu2on	
  	
  

2θ
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Resolu2on	
  	
  	
  dmin	
  =	
  λ /2	
  sin	
  (θmax)	
  
differs	
  from	
  Rayleigh	
  criterion	
  	
  

dmin	
  =	
  λ /2	
  sin	
  (θmax)	
  is	
  	
  
the	
  wavelength	
  of	
  the	
  
	
  shortest	
  wave	
  used	
  to	
  	
  
construct	
  the	
  density	
  map	
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The	
  Rayleigh	
  Criterion	
  
	
  •  The	
  Rayleigh	
  criterion	
  is	
  the	
  generally	
  accepted	
  criterion	
  for	
  

the	
  minimum	
  resolvable	
  detail	
  -­‐	
  the	
  imaging	
  process	
  is	
  said	
  to	
  
be	
  diffrac2on-­‐limited	
  when	
  the	
  first	
  diffrac2on	
  minimum	
  of	
  
the	
  image	
  of	
  one	
  source	
  point	
  coincides	
  with	
  the	
  maximum	
  of	
  
another.	
  	
  

compared	
  with	
  
sin	
  (θmax)	
  =	
  λ /2	
  dmin	
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How	
  do	
  we	
  judge	
  the	
  	
  
Quality	
  of	
  structure?	
  
	
  
2.	
  Overall	
  quality	
  criteria:	
  
	
  	
  	
  	
  agreement	
  of	
  observa2ons	
  
	
  	
  	
  with	
  diffrac2on	
  calculated	
  	
  
	
  	
  	
  from	
  the	
  interpreted	
  structure.	
  
	
  
3.	
  Since	
  we	
  refine	
  the	
  structure	
  
To	
  match	
  the	
  Ihkl	
  overfipng	
  ?	
  
	
  
Define	
  Rfree	
  for	
  a	
  ‘hold-­‐out	
  ‘	
  	
  
set	
  of	
  observa2ons.	
  
	
  
4.	
  OK?	
  	
  R	
  <	
  20%,	
  	
  R	
  free<	
  25%	
  
	
  
5.	
  But	
  the	
  experimental	
  errors	
  	
  
in	
  measuring	
  Fo	
  are	
  ~	
  3%.	
  
inadequate	
  models	
  of	
  solvent,	
  	
  
atom	
  mo2on,	
  	
  anharmonicisity	
  
	
  
6	
  Accuracy	
  ~	
  0.5*res*R	
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Scaeering	
  

Adding	
  up	
  the	
  scaeering	
  of	
  Atoms:	
  
‘interference’	
  of	
  waves	
  

Waves	
  add	
  out	
  of	
  phase	
  
by	
  	
  	
  	
  2π[extra	
  path/λ]	
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In	
  general	
  they	
  add	
  up	
  to	
  something	
  
amplitude	
  In	
  between	
  -­‐2f	
  and	
  +2f.	
  
For	
  n	
  atoms	
  
	
  	
  	
  F2 = f!×!√! 
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Just	
  2	
  atoms…	
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Many	
  atoms	
  add	
  by	
  the	
  same	
  rules.	
  
	
  
Different	
  in	
  every	
  direc2on.	
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30S	
   50S	
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Data/Parameter	
  is	
  the	
  same	
  for	
  all	
  
molecular	
  sizes	
  at	
  the	
  same	
  
resolu2on	
  dmin	
  

ie.	
  quality	
  is	
  the	
  same!	
  
1/Resolu2on	
  

1/Resolu2on	
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Object	
  repeated	
  	
  
1/λ
2/λ
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F(S)	
  =	
  Σj	
  fj	
  e(2πirj.S)	
  
	
  	
  

Scaeering	
  paeern	
  is	
  the	
  	
  
Fourier	
  transform	
  (FT)	
  of	
  the	
  structure:	
  
Amplitude	
  and	
  phase	
  of	
  waves	
  is	
  a	
  	
  
sum	
  of	
  waves	
  from	
  each	
  atom	
  	
  

Structure	
  is	
  the	
  ‘inverse’	
  
Fourier	
  transform	
  of	
  the	
  	
  
Scaeering	
  paeern	
  	
  	
  

ρ(r)	
  =	
  Σ	
  F(S)	
  e(-­‐2πir.S)	
  

FT	
  

FT-­‐1	
  

FT-­‐1	
  

FT	
  

This	
  is	
  all	
  there	
  is?	
  YES!!	
  

a	
  

b	
  

1/a	
  

1/b	
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F(S)	
  =	
  Σj	
  fj	
  e(2πirj.S)	
  
	
  	
  

Scaeering	
  paeern	
  is	
  the	
  	
  
Fourier	
  transform	
  of	
  the	
  structure	
  	
  

Structure	
  is	
  the	
  ‘inverse’	
  
Fourier	
  transform	
  of	
  the	
  	
  
Scaeering	
  paeern	
  	
  	
  

ρ(r)	
  =	
  Σ	
  F(S)	
  e(-­‐2πir.S)	
  

FT	
  

FT-­‐1	
  

FT-­‐1	
  

FT	
  

This	
  is	
  all	
  there	
  is?	
  

a	
  

b	
  

1/a	
  

1/b	
  
F(h,k,l)	
  =	
  Σj	
  fj	
  e(2πi	
  (hx+ky+lz))	
  

ρ(x,y,z)	
  =	
  Σ	
  F(h,k,l)	
  e(-­‐2πir.S)	
  

S	
  

S	
  
h=15,	
  k=3,	
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One	
  atom	
   Two	
  atoms	
  



Object	
   Scaeering	
  
Build	
  a	
  crystal	
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Every	
  X-­‐ray	
  reflec2on	
  (h,k,l)	
  has	
  a	
  contribu2ng	
  wave	
  from	
  all	
  j	
  atoms	
  .	
  
	
  
	
  
	
  

              ρ(x,y,z)	
  =	
  Σ	
  	
  	
  	
  	
  	
  	
  	
  	
  F(h,k,l)	
  e(-­‐2πi(hx+ky+lz))	
  	
  

 or    ρ(x,y,z)	
  =	
  Σ    |F(h,k,l)|	
  e(-­‐2πi(hx+ky+lz)	
  +	
  φhkl)	
  	
  
	
  
Every	
  point	
  in	
  the	
  density	
  map	
  has	
  contribu2ons	
  from	
  every	
  reflec2on	
  
	
  
	
  

F(h,k,l)	
  =	
  Σj	
  fj	
  e(2πi	
  (hxj+kyj+lzj))	
  

	
  	
  hkl	
  

	
  	
  	
  hkl	
  



F(S)	
  =	
  Σj	
  fj	
  e(2πirj.S)	
  
	
  	
  

Scaeering	
  paeern	
  is	
  the	
  	
  
Fourier	
  transform	
  of	
  the	
  structure	
  	
  

Structure	
  is	
  the	
  ‘inverse’	
  
Fourier	
  transform	
  of	
  the	
  	
  
Scaeering	
  paeern	
  	
  	
  

ρ(r)	
  =	
  Σ	
  F(S)	
  e(-­‐2πir.S)	
  

PROOF	
  OF	
  INVERSE	
  FOURIER	
  TRANSFORM	
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‘Difference	
  maps’	
  	
  
-­‐Define	
  bound	
  ligands	
  
-­‐to	
  find	
  any	
  missing	
  atoms	
  during	
  refinement,	
  
-­‐to	
  find	
  ligands	
  
-­‐define	
  movements	
  of	
  protein	
  or	
  water	
  
-­‐determine	
  ion	
  posi2ons	
  
-­‐determine	
  changes	
  in	
  dynamic	
  mo2on	
  
	
  
	
  	
  	
  



2πr1.S	
  

f1=6	
  electrons	
  

2πr7.S	
  

F(S)	
  

Sum	
  of	
  7	
  atoms	
  scaeering	
  

Result	
  is	
  a	
  wave	
  of	
  	
  
amplitude	
  	
  |F(S)|	
  
phase	
  	
  Φ(S)	
  	
  

cos(θ)	
  

	
  	
  sin(θ)	
  

e(iθ)	
  =	
  	
  cos(θ)	
  +	
  i	
  sin(θ)	
  

i	
  =	
  √(-­‐1)	
  

F(S)	
  =	
  f1	
  e(2πir1.S)	
  +	
  f2	
  e(2πir2.S)	
  +….	
  	
  	
  
	
  	
  

In	
  reality,	
  maybe	
  3	
  atoms	
  are	
  missing.	
  
How	
  to	
  see	
  what	
  is	
  missing?	
  

Suppose	
  we	
  interpret	
  7	
  atoms;	
  but	
  3	
  remain	
  to	
  be	
  found	
  in	
  density	
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and	
  why	
  do	
  we	
  care?	
  

How	
  much	
  difference	
  will	
  	
  
it	
  make	
  to	
  the	
  	
  
average	
  intensity?	
  	
  
average	
  amplitude?	
  
	
  
if	
  we	
  add	
  a	
  single	
  Hg	
  atom?	
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and	
  why	
  do	
  we	
  care?	
  

How	
  much	
  difference	
  will	
  	
  
10	
  electrons	
  make	
  to	
  the	
  	
  
average	
  intensity?	
  	
  	
  98,000	
  e2	
  
average	
  amplitude?	
  313	
  
	
  
average	
  difference	
  in	
  amplitude?	
  
average	
  difference	
  in	
  intensity?	
  
	
  
if	
  we	
  add	
  a	
  single	
  Hg	
  atom?	
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and	
  why	
  do	
  we	
  care?	
  

How	
  much	
  difference	
  will	
  	
  
80	
  electrons	
  make	
  to	
  the	
  	
  
average	
  intensity?	
  	
  	
  98,000	
  e2	
  
average	
  amplitude?	
  313	
  e	
  
	
  
average	
  difference	
  in	
  amplitude?	
  
18	
  %	
  of	
  each	
  amplitude!	
  
36%	
  of	
  each	
  Intensity	
  
	
  	
  
	
  difference	
  in	
  ’intensity?’	
  
104,400-­‐98000=6400	
  	
  	
  	
  (6.5%)	
  
	
  

or	
  Hg	
  atom	
  n=80e	
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2πr1.S	
  

2πr7.S	
  

F(S)	
  

USES:	
  	
  	
  2.	
  Add	
  a	
  substrate,	
  Grow	
  a	
  new	
  crystal	
  
Measure	
  New	
  |F(S)|obs+substrate	
  Compare	
  with	
  the	
  apo-­‐protein.	
  

Transform	
  ΔF	
  =||F(S)|obs+substrate-­‐	
  |F(S)|obs|	
  Φ(S)	
  
or	
  
[2|F(S)|obs+substrate-­‐	
  |F(S)|obs	
  ]	
  	
  Φ(S)	
  
=	
  a	
  ‘2F0-­‐Fo	
  map’	
  
	
  
	
  

e(iθ)	
  =	
  	
  cos(θ)	
  +	
  i	
  sin(θ)	
  F(S)	
  =	
  f1	
  e(2πir1.S)	
  +	
  f2	
  e(2πir2.S)	
  +….	
  	
  	
  
	
  	
  

phase	
  	
  Φ(S)	
  	
  

|F(S)|observed	
  

cos(θ)	
  

θ	
   ΔF	
  ftrue	
  

It	
  is	
  unbiased	
  as	
  to	
  where	
  the	
  missing	
  
substrate	
  is.	
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A Dfference map shows 1/3 occupied NH3 sites and the role of D160 at 
1.35Å Resolution. Here are 0.3 NH3 peaks! 

Khademi..Stoud	
  2003	
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Fo-­‐Fc	
  maps	
  iden2fy	
  everything	
  ordered	
  that	
  is	
  'missing'	
  

mapmap	
  

-­‐Eliminate	
  Bias	
  
-­‐Half	
  electron	
  content	
  
-­‐See	
  electrons	
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Figure	
  3	
  The	
  cataly2c	
  triad.	
  (A)	
  Stereoview	
  displaying	
  Model	
  H	
  superimposed	
  on	
  the	
  2Fo	
  Fc	
  (model	
  H	
  phases)	
  at	
  1	
  (aqua)	
  and	
  4	
  (gold).	
  The	
  
densi2es	
  for	
  C	
  and	
  N	
  in	
  His	
  64	
  are	
  weaker	
  than	
  in	
  Asp	
  32.	
  The	
  Asp	
  32	
  CO2	
  bond	
  at	
  4	
  is	
  con2nuous,	
  while	
  the	
  density	
  for	
  the	
  C	
  and	
  O1	
  are	
  
resolved.	
  (B)	
  Schema2c	
  of	
  the	
  cataly2c	
  residues	
  and	
  hydrogen	
  bonded	
  neighbors	
  with	
  thermal	
  ellipsoid	
  representa2on	
  countered	
  at	
  50%	
  
probability	
  (29).	
  Cataly2c	
  triad	
  residues	
  Ser	
  221	
  and	
  His	
  64	
  show	
  larger	
  thermal	
  mo2on	
  than	
  the	
  Asp	
  32.	
  Solvent	
  O1059	
  appears	
  to	
  be	
  a	
  
rela2vely	
  rigid	
  and	
  integral	
  part	
  of	
  the	
  enzyme	
  structure.	
  (C)	
  Cataly2c	
  hydrogen	
  bond	
  (CHB).	
  A	
  Fo	
  Fc	
  (model	
  H	
  phases)	
  difference	
  map	
  
contoured	
  at	
  +2.5	
  (yellow)	
  and	
  2.5	
  (red)	
  and	
  a	
  2Fo	
  Fc	
  (model	
  H	
  phases)	
  electron	
  density	
  map	
  contoured	
  at	
  4	
  (gold).	
  The	
  posi2on	
  of	
  the	
  
short	
  hydrogen	
  atom	
  (labeled	
  HCHB)	
  in	
  the	
  CHB	
  is	
  posi2oned	
  in	
  the	
  posi2ve	
  electron	
  density	
  present	
  between	
  His	
  64	
  N1	
  and	
  Asp	
  32	
  O2.	
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  in:	
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  Kuhn;	
  Mark	
  Knapp;	
  S.	
  Michael	
  Sol2s;	
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  Ganshaw;	
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  Boe;	
  Biochemistry	
  	
  1998,	
  37,	
  13446-­‐13452.	
  
DOI:	
  10.1021/bi9813983	
  
Copyright	
  ©	
  1998	
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  Chemical	
  Society	
  

The	
  closer	
  you	
  get	
  –the	
  lower	
  the	
  noise.	
  	
  
Can	
  see	
  single	
  electrons.	
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Difference	
  Map	
  
noise	
  ~20%	
  of	
  noise	
  in	
  the	
  parent	
  protein	
  
-­‐and	
  only	
  two	
  peaks!	
  

Seeing	
  small	
  shi�s	
  
-­‐down	
  to	
  ±0.1Å	
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Fo-­‐Fc	
  density	
  at	
  2.5	
  and	
  2.0	
  σ 	
  
Green	
  =	
  IntB	
  analog	
  complex,	
  
	
  Cyan	
  =dUMP-­‐CB3717	
  complex	
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Rela2ve	
  Informa2on	
  in	
  Intensi2es	
  versus	
  phases	
  

ρ(r)	
  =	
  Σ	
  F(S)	
  e(-­‐2πir.S)	
  

ρ(r)	
  duck	
  	
   ρ(r)	
  cat	
  	
  

F(S)	
  =	
  Σj	
  fj	
  e(2πirj.S)	
  F(S)	
  duck	
  	
  
|F(S)|	
  

φ(s)	
  
F(S)	
  cat	
  	
  

|F(S)|duck	
  

φ(s)	
  cat	
  
Looks	
  like	
  a	
  …..	
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Rela2ve	
  Informa2on	
  in	
  Intensi2es	
  versus	
  phases	
  

ρ(r)	
  =	
  Σ	
  F(S)	
  e(-­‐2πir.S)	
  

ρ(r)	
  duck	
  	
   ρ(r)	
  cat	
  	
  

F(S)	
  =	
  Σj	
  fj	
  e(2πirj.S)	
  F(S)	
  duck	
  	
  
|F(S)|	
  

φ(s)	
  
F(S)	
  cat	
  	
  

|F(S)|duck	
  

φ(s)	
  cat	
  
Looks	
  like	
  a	
  CAT	
  
PHASES	
  DOMINATE:	
  
-­‐Incorrect	
  phases	
  	
  	
  	
  	
  	
  	
  	
  =	
  incorrect	
  structure	
  
-­‐incorrect	
  model	
  	
  	
  	
  	
  	
  	
  	
  	
  =	
  incorrect	
  structure	
  
-­‐incorrect	
  assump2on	
  =	
  incorrect	
  structure	
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Electron	
  Diffrac2on	
  

•  -­‐Electrons	
  are	
  scaeered	
  more	
  than	
  X-­‐rays:	
  
•  Every	
  diffracted	
  beam	
  is	
  a	
  new	
  incident	
  ray!!	
  

•  -­‐from	
  Electric	
  fields	
  in	
  atoms	
  
•  Scaeer	
  goes	
  up	
  as	
  square	
  root	
  of	
  atom	
  number	
  

•  Absorp2on	
  is	
  high,	
  -­‐	
  so	
  very	
  thin	
  crystals	
  only!	
  
•  100Å	
  	
  	
  -­‐5000Å	
  

•  Phasing?	
  Molecular	
  replacement?	
  Guess?	
  
•  because	
  Heavy	
  metals	
  are	
  less	
  different.	
  

•  Til2ng	
  specimen	
  to	
  ‘scan’	
  diffrac2on	
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Images of lysozyme microrystals.(A) Light micrograph showing lysozyme microcrystals 
(three examples indicated by arrows) in comparison with larger crystals of the size normally 

used for X-ray crystallography.  

Dan Shi et al. eLife Sciences 2013;2:e01345 

Bar =50 microns 

Bar = 1 micron 
crystal thickness 
0.5-1 micron 
ie.  5000Å 
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MicroED structure of lysozyme at 2.9 Å resolution.(A) The 2Fobs−Fcalc (contoured at 1.5σ) 
map covers protein residues 5–45 of lysozyme.  

Dan Shi et al. eLife Sciences 2013;2:e01345 
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Supplementary	
  Proof	
  of	
  the	
  ‘Random	
  Walk’	
  calcula2on	
  



The	
  ‘Random	
  Walk’	
  problem?	
  (p33.1-­‐33.3)	
  
	
  
What	
  is	
  the	
  average	
  sum	
  of	
  	
  
n	
  steps	
  in	
  random	
  direc2ons?	
  
	
  
(What	
  is	
  the	
  average	
  amplitude	
  
<|F(s)|>	
  from	
  an	
  n	
  atom	
  structure?)	
  
	
  
-­‐AND	
  why	
  do	
  we	
  care?!........	
  
	
  
How	
  much	
  difference	
  from	
  adding	
  a	
  
mercury	
  atom	
  (f=80).	
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The	
  average	
  intensity	
  for	
  an	
  
n	
  atom	
  structure,	
  each	
  of	
  f	
  electrons	
  
is	
  <I>=	
  nf2	
  
	
  
The	
  average	
  amplitude	
  is	
  Square	
  root	
  
of	
  n,	
  2mes	
  f	
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